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Show all work for each of the following in the space provided.

1. Expand and simplify the following radical expression: [8]
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4. Simplify the following rational expression. State all non-permissible values of the variable. [6]
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5. A speedboat can travel 32 miles per ho

n still water ]ttr rels 150 mileg upNgeam against the curre; en
returns to the starting location. The total iy it i ’

¢ of the trip is 10 hours. W} [6]
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McGraw-Hill Ryerson

Pre-Calculus 11

Chapter 2

Trigonometry




termidal arm

}/\Ro’ra’rion Angles

~

mnitial arm

(

counter-clockwise rotation, §

Y

« standard position - when the initial arm is on the positive x-axis
and the vertex is at the origin.

ex: positive rotation - counter clockwise (ccw)
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ex: negative rotation - clockwise (cw)

#3: -1400

$

¢

g’

” V%o &

#4:

—&

7140

7=




Chapter

Angles in Standard Position

Circle the angles that are in standard position.

T, X
I S
N, kL R

>l
*

=W
Bl

Ao

=]
=¥

1 X
Check answer J




« co-terminal angles - angles with the same terminal arm

N e
0+360°k Mhere k is an integer ~ examplg: 00* -10

» d,
5 107
EXERCISE: Sketch each of the following...
a) 5830.57923" b) -235° =5 |a s c) -8100
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Identify 3 angles co-terminal with each of the following angles:

(1)47e (2) -45%

How many co-terminal angles exist for any rotation angle?
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Angles that are in standard position are said to bequadrantalif their terminal side
coincides with a coordinate axis. Angles in standard position that are not quadranta
fall in one of the four quadrants, as shown below...

I1 y 1 11 Y i I1 y I I1 Y I
\ X X / \ X _4 krj X
P, \Q/,
111 v 111 IV 111 v 111 IV
Third quadrant angle Second quadrant angle Quadrant angle Quadrant angle
(a) (b) (e) (f)

e (Quadrantal angle: terminal arm lies on a quadrant boundary (axis)

examples... ™




Within which quadrant would the terminal arm for each of the
following rotation angles be found?

94°

500° ]II
—~100°

180°

—300°



o Principal angle: is the smallest positive angle that describes the
position of the terminal arm.

@ <principal angle<3600°

Example Given the co-terminal angle -992°, find the principal angle.

We need to “unwind” our way back to between 0° and 360° by making revolutions of 360°.

Add 360° Add 360° Add 360°

The principal angle is 88°

Examples... a) -2600 b) 680
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